SUMPOEIRSANITOIS A

l)—
U= — A DEAY RF T TR RIS
A{TMRIBEEE (EPD) ERHATFRBXNGET-14-8
B4RES ;. JR-AI-23349E KANDA SQUARE GATE

https://ecoleaf-label.jo

E/8L—H—T1) 58—

m Monochrome Laser Printer
at your side H L_ L2460DWXL for North America

IS5 —T %% £4t / BROTHER INDUSTRIES, LTD.

BER{ SRBS JR-AI-23349E
JEAPCRES PA-590000-AI-08
HEB1EHED
PCR% ERA L DR [558MR]
BEENRESFE VNS ] 2024478198
W RA%EA CIFRfEIAA WIISEE 202447848
ARG, A7, . (5 - HERFEIE, B - UYL HREES T S RFTLRREHEAR
RIBS JV-AI-23349E
HROBK, TEMLE - f#ix REEEZIHARE 2029478 3H
AR : HL-L2460DWXL PCRLE1—-0D=EiiE
-JU>45 (EPAR) REAS 20234 948 1H
/90 RER G Bz
-ENRIRE : 36ppm (L5-) (FRE  —MEEA D RTF TS E)
-ERAAEYAX A4 LF— BEBIRLE*
- JU> N/ B ENREEENR SHEMIREEE /NBE TR
AKEE : 7.6kg. BEA : 1.5kg
B/ BIRLAN ISO14025(CE D IEABEERUT —5 DINIL U TARSE
XAREmEARAEEIT TS, [ m 5D

* AT LR R TR RAADIREDBE(E. AT LFREEITD
EEEEDRRIZ L.

BWEahHE%
I35 -TERR ST KIRZ ST ITEESED
inml-ecoleaf-jimukyoku@brother.co.jp https://global.brother/ja

EixES ¢ JR-AI-23349E



mailto:inml-ecoleaf-jimukyoku@brother.co.jp
https://global.brother/ja

I7y—7 SUMPORIESANIT OIS A
_ —BHIEAY 2T T T IES S
A{TMIRIEE S (EPD) FRETFABRAMET-14-8
BHRES © JR-AI-23349E KANDA SQUARE GATE
https.//ecoleaf-label jo

OS5A THA V) EFhER

0% 20% 40% 60% 80% 100%
SHRZH) IPCC 2013 GWP 100a 430 |kg-CO2eq
v 0.28 | kg-SO2eq
o%o0% | |
BRHE 0.019 | kg-Sbeq
m OFREMFERE mQ%E n QA
EQOFER-HHEE nOEE-VHM1IIL
P9iR =| Ba{yy ait | OREMHEE Q%= Qi |omAm - #5EE| oRR - UYL
SUEZEE) IPCC 2013 GWP 100a | kg-CO,eq | 4.3E+02 || 6.4E+01 | 3.8E+00 | 6.6E+00 | 3.4E+02 | 1.5E+01
[ivde2le kg-S0O,eq | 2.8E-01 5.0E-02 2.9E-04 8.0E-03 2.1E-01 6.7E-03
BREE kg-Sbeq 1.9E-02 6.3E-03 1.2E-05 2.8E-05 1.3E-02 3.7E-06
) )1 & MBI OB (CET S1Eh%E
15 T3 A - e (ERETES) T3
JEBAEDREER 1.5E+01 kg 35 50 1.9E+00 kg
IEBEMREIRILF— 6.4E+03 MJ SuUS 4.8E-02 kg
BERREER 41E+01 kg FILE=A 7.6E-02 kg
B&ufE TR — 1.6E+02 MJ TDfhERE 0.0E+00 kg
WIKDHEE 5.5E-01 m3 TSAFwvo 4.6E+00 kg
myN 1.7E-01 kg
HSX 3.3E-02 kg
A N 1.3E+00 kg
EEEEER 3.2E-01 kg
Z DAt 6.1E-01 kg

OHERRCEY DENHH

EREREOEESZE (SFUA)
JUZs (EPAR) « BEEFAHARM : 54, LEMRIARER : 192,00042. EIRIAIETSE (/XH—>) :ISO/IEC 19798
EMRIABIRIFREERE(CEFRLV. BALLIRILF—RXY-TOT5 LA : Ver.3.0. ARG (EILRLE@IT

©-1. TOMDRIFEEFH
ARBROMEIERE & FBERO M —ROBHAEIEFISO14001 BEBRITIHIC TITONTVET,

QERUEZRT—IDERS
IDEA v2.1.3 RUSUMPORIESNILTOJ S LAEREEA v1.10 ZERA L.

®fF5

0 —SFHEDHEF. PCRELUERE - ESHEEZSRUTIIZE0,
O LLEICDULT I BE - EERRERESINERGZHmIEUEBESICUMRDENER A
(B885%URL : https://ecoleaf-label.jp/regulation/)
SixES . JR-AI-23349E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

